1. The primary voltage of a transformer is directly proportional to the number of turns in the
]_:lrm'larg,,x directiy proportional to the secondary voltage, and inversely proportional to the mumber of

secondary turtis.

2. The efficiency of a transformer is directly proportional to the secondary current, directly
propm'tlcmal ta the second.aq voltage, inversely proportional to the primary current, and inverscly

proportional to the primary voltage.

3. The primary current of a transformer is directly proportional to the primary power and
inversely proportional to the primary voltage.

4. The primary current of a transformer is directly proporticnal to both the oumber of turns in the
secondary and the secondary enrrent, and inversely proportional to the number of tumns in the primary,
and inversely propodicnal to the efficicacy.

5. The power of the primary of a fransformer is directly proportionzl to the power of the
secondary and inversely proportional to the efficiency.

6. The power of the primary of a transformer is directly proportional to both the primary voltage
and the prirnary amperage.

7. The number of primary twms in a transfotimer is directly proporiional to both the voliage of the
primary and the numbet of tums in the secondary, but inversely proportional to the valtage of the
secondary.

8. The current on the primary of a transformer is directly proportional to the secondary eurrent
and the secondary voltage, but inversely proportional to the primary voitage and efficiency.

9. The voltage of the secondary of a transformer is directly proportional to the current,
directly proportional to the primary voltage and the efficiency, but inversely proportional to the current
af the secondary.

10, The voltage an the pritmary side of & transformer is directly proporticnal to the primary
wattage snd inversely proportional to the primary current.

11. The number of tarns in the secondary of a transformer are directly proportional to the number
of turns in the primary, directly proportionat to the secondary voltage, and inversely proporticnal to the
primary voltage.

12. The primaty voltage of a transtormer is direcely proportional to the secondary current, directly
proportional to the secondary voltage, inversely praportionat to the efficiency and inversely
propoertional to the primary current.

Remember: When a factor is directly proportional to another factor, it will be in the numerator.

When a factor is inversely proportional to another factor, it will be in the denominator.




